RHEER__ Hho__ KE

o o |wen] menss | s ress
R BRAE SR IC 18 TIMTIN | @i 777
BLEFAL MEts O | K [ER] 1

[< (2 [3]4 4%k o] —
AR H 20 % A HI| a-x CSa—2 - fia—2 B
RRETAM |1 ) 3 4 5 6 HE
FompME T2l (Oenb) PRSP
) b=
| 1 Prte 8 ( Miteb H=60, 6 =159
s e B % Al | o TR LB T Re
(0) r\‘ £y A_l @ @ e ‘
=1L X
P(BIA)= 0.9p : \ Lt
P(BlA)=0.05 =3} ; T x
Feorpa g N . N RO
@ _ 9w°Ixoe 3 . 66/ 0 o\eég *
@+@ 0.0[xo, Qo+0Q?x0-:;’€—~( 4% pd ‘

(6) ~Falods R v Tfa oY BT @ EHB 5T % 5
B.4%, FEABr 4 6% Rar Plgzo.b6b) = 0,251
.« . 0.154 x 5.90 '

e AN 3—\ IR
@ +®& O Y %090+ 0.8 %o.05

® _ Pl 0:666) _ (#.5-0, k1%
= 16.6% @ R

- 71— 04‘(1# o
(2fT» H%w TRRAY 4 <BT )

P(ZZ—a L6ty
7 — 0 -f‘[??ﬁ

o 0.7484 =664t
l“ “Zf% A [=!

F=0

() :' EHALRE 54
: o
= P(%+)%2+333+ N ) ;@ ' 7)[27[#)—':0)\6(78//

2252 L{zpi-2

° (5o
g = ?(%+2%+~--- ) -2 /'0;‘66%"%2=Sé:é%
TELL 0-@ &Y  looo kw0, 866 = 36652 A
= pla+Q+ g+ )= b &5 36454
(-4)p=PLg+q + 93 fp‘_% 3 3667
X %% (2) Feizg 2, ABBT .7
M (47 P % T To F55 o 4 %f
L Plx-pl=e)=1-5% &y
E |
‘v“D(]- f("r t\)'{(ﬂf)d'x

Pllx-pl2156) 2 (- (f%’)é: 0. 55
= g }Ccmdvc — i(uj —fmc{«x .2 V f—ﬁ.ﬁ,d,ﬁ o looo ¥ 6. 556 = 2235 o

1

i

&S 22234 Ak
EDCT —opp + tf‘i = ED("']VM“

= B0 (),
EERSFHELTXu,




